@ -4x+9=9-4x

@® 3x-2=5x+38

® 2x2 -7

@ x®+5x+6=x2+1

x(2x-3)

® x(2+x)=2(x+1)



2.

ool Al y 7t x ol Z3u]e st

1

@ y=2x-1 ®y=

® x+y=24



3. AH60km =z ZPE AFAE cAREFEE A7t ykm & T, 2
ARE & A =E?

@ 60km @ 80km ® 100km

@ 120km ® 150km



4. y=ax M x=4¢d,y=20°c} x=6 4 o y O] 2"

@D 3 ® 4 3 5 @ 6 B 7



W2k ubp U o skt R e o] k2t 22 AN, 10 44 Eof glich,
Ty, W7 whpU oA T YR 3 9 A SAHY, 97
HEEU el Qs Bo] Aok mhat vy el Qi Bo] A4e] Bt
5:3 0] Foic, W7 Pl A s vt 2§70 B AR

D 1 7 @ 2 7 3 3 7 @ 4 7 e 5 7



ASNA 5 4] Aolell A7t 2410

wHo] olF= 27k 90° 7t Hi= Azt
=7
DO 44 528, 44 3828 @ 44 16218 423821
1 = 1 = 511L, 411L
® ¥, 44 o F @ A5 R AN 16E
4
® 44] IGH—H"——’ AA] 273121

jLe



7. 12% ° 285 200g°] 6

% o] AFES Ao 10% o AFES WS
HI S 6% J ABEEHg

& Golof sk

® 8o0g @ 90g ® 100g @ 110g ® 120g



FHA@@-1
}}E%?a . 2), B(3a—7, 2) 7ty ol disto] thA A wf, & A 9
@ @1, -
2) @ (1, 2) ® (-2
-2, 1)

@ (2, -1) ® (-1, 2)



=t

oF i) oF

@ a>0¢ o, Al 1,3AHEHAS ALt
@ a<0d W, Al 2,4 AHEH-S AL}
® a<0¥ o, xgto] Z715H4H ygk

@ y=-ax®] 117}

A

A

ol



